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1. If the side of a square is 10.00 cm, the perimeter of the square =
D C

A B

(i) 37.00 cm (ii) 35.00 cm (iii) 40.00cm (iv) 43.00cm (v) 45.00 cm

2. If the side of a square is 16.00 cm, the area of the square =
D C

A B

(i) 253.00 sg.cm (ii) 231.00 sq.cm (iii) 272.00 sq.cm (iv) 273.00 sgq.cm (v) 256.00 sq.cm

3. If the perimeter of a square is 60.00 cm, the side of the square =
D C

A B

(i) 20.00 cm (ii) 10.00 cm (iii)) 12.00 cm (iv) 18.00cm (v) 15.00 cm

4. If the perimeter of a square is 60.00 cm, the area of the square =
D C

A B

(i) 225.00 sg.cm (ii) 231.00 sq.cm (iii) 207.00 sq.cm (iv) 208.00 sgq.cm (v) 238.00 sqg.cm



5. If the area of a square is 121.00 sg.cm, the side of the square =
D C

A B

(i) 16.00cm (ii) 6.00 cm (iii) 11.00 cm (iv) 14.00cm (v) 8.00 cm

6. If the area of a square is 144.00 sq.cm, the perimeter of the square =
D c

A B

(i) 51.00 cm (ii) 53.00 cm (iii) 48.00cm (iv) 45.00cm (v) 43.00 cm

7. If the length and breadth of a rectangle are 16.00 cm and 14.00 cm respectively, the perimeter of the rectangle =
D C

A B

(i) 60.00 cm (ii) 63.00 cm (iii)) 57.00 cm (iv) 65.00cm (v) 55.00 cm

8. If the length and breadth of a rectangle are 20.00 cm and 19.00 cm respectively, the area of the rectangle =
D c

A B

(i) 380.00 sg.cm (ii) 398.00 sq.cm (iii) 357.00 sq.cm (iv) 364.00 sgq.cm (v) 383.00 sq.cm



9. If the length and perimeter of a rectangle are 20.00 cm and 78.00 cm respectively, the breadth of the rectangle =

D C

A B

(ii) 19.00 cm (iii) 24.00 cm (iv) 14.00cm (v) 16.00 cm

(i) 22.00 cm

10. If the length and perimeter of a rectangle are 12.00 cm and 38.00 cm respectively, the area of the rectangle =

D c

A B
(i) 81.00 sgq.cm (ii) 84.00 sq.cm (iii) 87.00 sgq.cm (iv) 79.00 sgq.cm (v) 89.00 sq.cm
11. If the length and area of a rectangle are 10.00 cm and 50.00 sg.cm respectively, the breadth of the rectangle =

D =

A B

(i) 4.00cm (ii) 6.00 cm (iii) 7.00 cm (iv) 3.00 cm (v) 5.00 cm

12 If the length and area of a rectangle are 12.00 cm and 132.00 sqg.cm respectively, the perimeter of the rectangle

D c

A B

(i) 49.00cm (ii) 41.00 cm (iii) 46.00cm (iv) 51.00cm (v) 43.00 cm

If the breadth and perimeter of a rectangle are 12.00 cm and 64.00 cm respectively, the length of the rectangle

D c

A B

(i) 23.00 cm (ii) 25.00 cm (iii) 20.00 cm (iv) 17.00cm (v) 15.00 cm



14. If the breadth and perimeter of a rectangle are 6.00 cm and 42.00 cm respectively, the area of the rectangle =

D c

A B

(i) 87.00 sg.cm (ii) 85.00 sg.cm (iii) 95.00 sgq.cm (iv) 90.00 sg.cm (v) 93.00 sq.cm

15. If the breadth and area of a rectangle are 18.00 cm and 342.00 sqg.cm respectively, the length of the rectangle =

D L

A B

(i) 22.00 cm (ii) 24.00 cm (iii) 14.00 cm (iv) 19.00cm (v) 16.00 cm

If the breadth and area of a rectangle are 12.00 cm and 192.00 sq.cm respectively, the perimeter of the

" rectangle =
D C
A B

(i) 51.00 cm (ii) 59.00 cm (iii) 53.00 cm (iv) 56.00 cm (v) 61.00 cm

If the perimeter and area of a rectangle are 50.00 cm and 114.00 sg.cm respectively, the length of the rectangle

D C

A B

(i) 16.00 cm (ii) 14.00 cm (iii) 19.00 cm (iv) 24.00cm (v) 22.00 cm

If the perimeter and area of a rectangle are 50.00 cm and 156.00 sq.cm respectively, the breadth of the

" rectangle =
D C
A B

(i) 9.00 cm (ii) 7.00 cm (iii) 17.00cm (iv) 12.00cm (v) 15.00 cm
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